ECONOMICS AND BUSINESS STUDIES FACTSHEET 2
An introduction

Resources are combined in the process of production to create goods and services. Goods and services have the capacity to satisfy wants. The process through which individuals use up goods and services to satisfy wants is known as consumption
Some goods are used up quickly to satisfy consumer’s wants, whilst others satisfy wants over a longer period of time. Both of these categories of goods are called consumer durables. 

Unlimited wants

Most of us could list the essentials of life. They would form our basic wants and would include housing, food etc. We could also list some other goods and services we would like but they would fall into the category of luxuries. We therefore have to decide what it is we want to consume. This means that we have to decide on a scale of preference. It’s impossible to say what really stimulates our demand for something but we all have some likes and dislikes. With our individual preferences ranging over such huge variations in taste it is not suprising that economists find great difficulty in making precise estimates. It is also a fact of life that most of us would not agree to an end of the list of all the things we want. Our wants are continually changing, developing and expanding. They alter as we mature, marry and produce a family. At present your housing needs are very little but once you proceed to university they will alter and on leaving higher education you will have to enter the market as an essential user.  We will also note the possessions of others and these will influence our wants.

It is therefore difficult to imagine that in an economy such as the United Kingdom we will ever reach the end of our wants. Whatever technical breakthroughs the scientific community produces we will all face decisions on what to produce and consume. We will have unlimited wants but access to limited resources. Hence, we face the central problem of scarcity.

An exercise

Despite all the material benefits that have entered our lives in recent years the measurement of ‘happiness’ produced by some economists suggests that many of us are only slightly happier than we were before the Second World War. A more detailed look at the figures sees increase suicide, more long-term unemployment and a breakdown in what we call ‘the family’. On first reading it appears that we are feeling increased stress and less personal satisfaction.

The recent fuel crisis was partly caused by the increased taxation on petrol that was designed to reduce consumption. After all, oil is a finite resource. Yet when the petrol pumps were empty no mention was made of the ‘green credentials’ of the government. Suddenly it was greed, inconvenience and the problems it caused us that grabbed the headlines.

So, can we balance these two opposing forces? Perhaps we should actively encourage less consumption, more saving and expenditure on the things we supposedly all want – namely education, health and a clean environment.

Questions

1. Why do you think the conflict outlined in the above has arisen?
2. How might the problems that arise be tackled by a democratic government

Specialistion and exchange 

One of the ways in which more goods and services can be produced is by specialisation.  This refers to a situation where individuals and firms, regions and whole nations concentrate upon producing some goods and services rather than others. At any place of work people specialise in various functions. This allows them to concentrate on what they are best at and so make more and better goods and services. By following this style of production no one is self-sufficient.

It therefore becomes necessary to exchange goods and services. As we specialise in our work so we produce a surplus, which we can exchange for the surpluses of others.

To encourage exchange we have developed a medium of exchange, which in most economies is known as money. Money has several advantages and has allowed for the expansion in specialisation, exchange and trade. Markets developed where buyers and sellers came together to exchange the surpluses using the medium of money.

Money allowed trade to expand more rapidly than had previously been recorded and specialisation at both regional and national level began to be seen as an essential part of the new market systems. The surpluses this specialisation produced allowed exchanges between countries. So one country could exchange a surplus of one product for the surplus created by the specialisation of another country.  This exchange increased the standards of living of those participating in the markets.

The ability to trade outside your own political boundaries has given rise to enormous increases in living standards. Today we have the added impact of technology, which has the advantages associated with immediate communication over vast distances but the disadvantages of skills becoming redundant. Individuals now need to be more flexible and multi-skilled and be capable of moving between occupations and locations. At a regional or national level changes in consumption patterns have resulted in whole industries becoming uneconomic and even countries have to accept that in the global markets you have to be:

· competitive

· efficient

· and capable of adding value 

It is only then that the new era of more open trade will not cause too many problems for your national economy.

The division of labour

With increased specialisation the process of production has been broken down into its component parts. Workers are assigned tasks in what is known as the division of labour. Although this increases output it can cause dissatisfaction within the workforce. They may dislike monotonous work patterns and what is sometimes called the de-humanising of the workplace. To counteract these charges many companies now use practices that involve their workforce more in the decision making process and allow some job rotation within the plant in which they work.

Choice and opportunity cost

With limited resources and unlimited wants we all have to choose which wants to satisfy. The true cost of such decisions involves us being aware of what we forego in order to produce and consume what we decide we want those most. This awareness of what else could have produced with the same resources is known as the opportunity cost. An example of this would be you receiving a cash gift from a relative as a birthday present. Let’s say it is a £20 pound note. Do you buy a new CD or some books to help you with your AS level work? Both purchases will cost you £20. Alas, you can’t have both. So, the cost of one is the loss of the other. We have to make real choices in economics and the building of a school may mean that you cannot have a new hospital. We all face such choices, whether we are acting as an individual, part of a company or even as part of a government.

Production possibility curves

When making decisions about of much to produce within an economy we need to know what are the extreme limits within which the decisions are to be made. In more simple terms how much can the economy produce if it allocates all resources to one product or the alternative? This decision will be effected by:

· the amount of resources available

· the quality of the resources available

· the state of technology within the economy

Let’s look at an example of this essential tool of all economists.
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One way of allowing us to appreciate more fully the limitations that these maximum outputs impose on us is to draw a simple diagram. We plot one of the extremes on the vertical axis and the other extreme appears on the horizontal axis. By doing this we are producing a production possibility curve or frontier.
Now look at Production Possibility Curves/Frontiers in the diagram bank.

This shows us all the possible combinations of both guns and butter, which could be produced with the existing quantity and quality of resources available within our economy using the current state of technology available to us. At point A only guns can be produced, whilst at point D only butter can be produced. These are two extremes in the allocation of available resources. Within these two extremes a range of alternatives could be produced. The production possibility curve shows what levels of output an economy can achieve with its existing resources.

It can also show us what cannot be produced. On our diagram point Y is currently unobtainable. What lies beyond the curve, frontier or boundary is NOT within our current ability to produce.

We can also use the production possibility curve to illustrate the real cost to society of allocating resources. At point X on our diagram we can produce 4000 guns and 2500 units of butter. They are both possible as they lie within the production frontier. However, some resources are not allocated if we decide to produce at point X. The economy now has to make a decision – does it concentrate more resources on guns, so moving the output to point B or does it allocate more to butter and produce at point C?  At point X we are satisfying as many people’s wants as we could but do we produce more of one product with the unemployed resource and why do we favour one alternative against the other? We now need to think what happens as an economy moves along its production possibility curve. Let’s take an imaginary journey along the line from point A to point D. As we move along the line so we encounter different combinations of the amounts of guns and butter that could be made. At the points nearest to A we are concentrating our resources on the production of guns, so we might fear in invasion from our neighbours. Moving towards D we begin to make more butter and fewer guns, so we must feel quite secure and think that foodstuffs can be made in increasing amounts. So, we can begin to be aware of the true cost of allocating resources. We can calculate how many units of butter cannot be produced if we decide to produce more guns and vice versa. This is another way of noting the opportunity cost of a decision. A move from B to C leads to a gain of 4000 units of butter at the cost of 2000 guns. The opportunity cost of one unit of butter is therefore around half of a unit of guns. This is the equivalent of one unit of guns having an opportunity cost of two units of butter. As we move along from point A to point B so our output is being transformed. We can also note how that for this to happen we need to switch from producing guns to producing butter. It is for this reason that some economists also call this curve or line the production transformation curve.

The process that has been emerging as we along the line is the reallocation of resources. In the real world we need to be aware of the cost of reallocating resources. In the current climate of many people wanting lower fuel prices they need to be made aware that lower tax revenues may 

Mean cuts in public expenditure. If so where and will people be pleased to see say longer waiting lists in hospitals? Economists are involved in real and difficult decisions! We also need to consider that a reallocation may take time to become effective. The extent to which resources can be reallocated from one form of production to another depends on the mobility of factors (factor mobility).

It might also have been noticeable to you that as we changed our output allocations the opportunity costs have remained the same. In reality this is most unlikely. It is more likely that the production possibility curve will show increasing costs.

Let’s look at some figures and work through an example.
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If we assume that the economy is currently producing at point P, with 600 units of wheat and 100 units of tin cans. (See figure 3)

However, a decision is made to move to point Q in order to gain 100 extra units of tin cans. This will need a reallocation of resources away from wheat and into tin cans. At first the least fertile land will be reallocated and only 60 units of agricultural output will be sacrificed. The new tin cans have been produced at a cost of 0.6 units of wheat. If we then measure the sacrifice at points R to S we can see that to gain 100 extra units of tin cans we will need to accept the loss of a further 200 units of wheat. The cost of one extra unit of tin cans has risen to 2 units of wheat. The cost has increased as we have reallocated our resources. As we expanded our output of tin cans so we had to sacrifice more fertile agricultural land and wheat. We have now used a production possibility curve to illustrate increasing costs.

Shifts in production possibility curves

We draw a production possibility curve with the assumption that the quantity and quality or resources and state of technology are FIXED. However, over a period of time economies gain or lose resources and the state of technology will alter. Such changes will SHIFT the production possibility curve to anew position. This is shown in Fig 4. In the first of these new diagrams the economy has moved outwards, that is it has expanded. This will be the result of:

· an increase in the quantity of resources available

· an increase in the quality of available resources

· an increase in the state of technology available to the economy

These changes have improved the economy’s ability to produce both of the products its can currently manufacture. In the second diagram the economy can only increase output in one of the two available products. This could be the result of a scientific breakthrough in a particular industry. Nevertheless, the economies’ production possibilities have increased. An economy can also go into either a total decline or see a significant reduction in the output of one industry. This may have been caused by the exhaustion of a resource or a new technical advantage or requirement has not been available to a particular country. 

Using production possibility curves

 What happens to our resources as we use them?

As an economy produces so it uses part of its capital. In economics this is called capital consumption or depreciation. Some resources need to be devoted to the production of capital goods if production possibilities are to be maintained. The creation of capital goods in an economy is known as investment. By investment we mean production that is not for current consumption. All economies face a fundamental decision; namely do they produce consumer goods or producer goods via the creation of investment. The greater the concentration on consumer goods the higher the standard of living of the population in the current time period BUT the standard of living might fall in the future if some money is not put aside for capital goods. Not only will the quantity of capital be reduced but the quality might also start to decline.  Figure 5 shows the production possibility between capital goods and consumer goods. The quantity and quality of resources in the economy determine these possibilities, which include the capital goods that have been produced in the past. Point A is the amount of capital goods that wear out each year. If we fail to produce at A then the stock of capital goods will decline. Our production possibility will diminish and the curve will move to the left.

In a twelve-month period the creation of capital goods is called the Gross Investment. Once we have deducted the amount needed to replace that which ahs worn out we are left with the balance, which is called the Net Investment.

Developing economies face a different problem. If they want to grow they need to invest in capital equipment. This will require them diverting some resources away from current consumption and into investment. However, some resources must be given over to consumption if their expanding populations are to be fed. This is called the subsistence level of investment. In many of the developing economies the majority of all available resources have to be invested in maintaining the subsistence level standard of living. In figure 6 the point 0a represents the capital consumption in a developing economy and 0b represents the consumer goods required for the subsistence of the population.

Some tasks

Multiple Choice 

1 An economist speaking of consumer goods means:

A. All commodities for which there is a high demand by all types of consumer

B. All goods, other than free goods, whose use directly satisfies consumers’ wants

C. All the factories and buildings used by the community in order to satisfy the wants of the consumers

D. All goods, other than free goods, used by consumers in order to earn a living

2. If a person has to choose between a second hand car and a colour television set and they buy the television set, the opportunity cost of the set is:

A The utility derived from its purchase

B. The car which he has to do without

C. The price paid compared with the price of the cheapest set

E. The price they might receive if they were to sell the set at a later date

3. The basic economic problem of a community is normally how to:

A. Keep prices of essential goods as low as possible

B. Distribute wealth as equitably as possible

C. Produce, and to know what to produce, for whom and in what quantity

D. Maintain full employment and prevent inflation

4. The basic function of the entrepreneur in the process of production is to:

A. Decide where to locate the productive unit

B. Plan factory layout

C. Study the market

D. Bear the uncertainties and take the risks

5. All wants cannot be satisfied because of the problem of:

A. Unemployment

B. Inflation

C. Greed

D. Scarcity

Short answer questions.

(a) Consumer durables are items used to satisfy household wants over many years. Give three examples of consumer durables you might expect to see in a kitchen. (2 marks)

(b) Why is a consumer durable eventually replaced? ( 3 marks)

(c) Write down two examples of the type of consumer durables you would expect to be owned by:

(i) an elderly person living on their pension

(ii) a successful business person

(2 marks)

(d) Why is the successful business-person likely to own more consumer durables? ( 1 mark)

(e) Explain two major factors which determine the amount of goods bought each week by a pensioner. ( 2 marks)

(f) How can the production of consumer goods be increased?( 2 marks)

(g) What are the difficulties facing a country which wants more capital goods? ( 4 marks)

Structured response question

Explain the choices facing decision-makers in a developing economy. Discuss the difficulties they face and suggest any solutions to their problems.

Answers

Multiple Choice

1. B

2. B

3. C

4. D

5. D

Short answers

(a) a fridge, toaster and glasses

(b) Even though consumer durables can be used over and over again there comes a point when it becomes worn out and needs to be replaced. Some people buy a new consumer durable before the old one is completely worn out because the product has been improved or because they would like a change.

(c) A pensioner is likely to own an inexpensive radio and a low priced food processor. The successful business person is more likely to buy more expensive products, such as a high cost car or a swimming pool.

(d) The business person owns more consumer durables because they receive a much higher income than the pensioner.

(e) The size of the state pension received by the pensioner and the price of goods will determine the amount bought. High prices and a small pension will only allow a few goods to be bought each week.

(f) The production of goods and services requires resources. An increase in the quantity of resources or the better use of resources can be used to increase the production of consumer goods.

(g) Producing more capital goods is called investment. The manufacture of more capital goods requires the initial sacrifice of some consumer goods. In the short run this switch of resources will cause a drop in supply of consumer goods but with the creation of more capital goods, so the output of consumer goods will rise. The long-term benefit of more capital goods has to be the balanced against the short-term loss of the reduced current production of consumer goods.

Structured response question

Decision-makers in a developing country face the fundamental problems of:

· either having very few resources or poor access to them

· having low numbers of skilled workers

· having access to limited amounts of money

So, they have to decide between making a limited amount of capital good and largely ignoring consumer goods, unless they can import some, or concentrate on the short-term advantages of making consumer goods and hope that some savings will be made with which to invest in capital goods.

They will therefore need to:

· attract foreign capital into their country

· accept sizeable sums of aid

· make enough consumer goods to keep the majority of the population satisfied

· try to balance the creation of the capital/investment goods and the much demanded consumer goods that people like to see in the shops.

KEY TERMS

Developing economy – a country with a low standard of living when compared with the more advanced economies of the western world.

Division of labour – the way in which the production process can be broken down into a series of tasks. The outcome is greater output compared with an economic system where people make their own needs

Factor mobility – the extent to which factors of production can be reorganised to produce different goods and services

Investment – the creation of capital goods in the process of production or the adding to of the stock of real productive resources within an economy.

Medium of exchange - one of the main functions of money which allows trade and the process of exchange to take place.

Money – anything that enables exchange to take place but which retains value.

Opportunity Cost – the amount or cost of any other good or service that could have been made or used instead of that which has received the available resources. 

Production – the making goods and services

Production Frontier – it shows what an economy is capable of producing. This is normally shown as the decisions that have to be made between two alternative products.

Production Possibility Curve – the maximum level of output an economy can achieve when using its existing resources: usually shows the maximum output of one good, given the output of another good.

Reallocation of resources – the process by which resources are transferred from one activity to another. 

Resources - anything that contributes to process of production.

Risk- the uncertainty that entrepreneurs face in the production process

Scale of preference – the ordering of wants in a priority order

Specialisation -  the process by which some goods and services are produced rather than others.

